Lattice 2 by 2

Name:

Use lattice multiplication to solve each problem.

D 71xa7=

2) 48 x 31 =

3)

6)

9)

12)

76 x 52 =

Answers

10.

11

12.
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Lattice 2 by 2 Name: Answer Key
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
71 x 47 = 48 x 31 = 76 x 52 = n 3,337
7 1 4 8 7 6
0 2 3 7
2 4 1. 3 3 s |2 1,488
3 8 4 1|72 , 4 3 5.7 0
2 o o o T 1 |= 3952
of 7| et al 2|
3 4 |- L ° a 4. 2,952
3 7 8 ,7 8 5 2
5, 3,440
4) — 5) _ 6) _
36x82= 40 x 86 = 62 x 58 = 6 3,596
3 6 4 0 6 2
4 0 1 7
2 8 3. 8 3 s |7 3,256
5 4 8 N 0 3 ol O
0 1 A2 o 4 1 8. 5,780
6 2 |? 4 ol® | 6|®
9 4 1.7 , 5
¢ ; 0. 3,549
5 2 4 - 0 9 6
10, 572
7) 8) 9
88 x 37 = 85 % 68 = 91x39=
11. 4,731
8 8 8 5 9 1
2 2 3 4,’,' 3 6 2 0 3 || 12 2,550
3 4 4 5 8 , 0 3 7.7 3
5 5 <16 |4 8 o .~
7 8 29
2 6 6 7 1. 4 ) 0 5 1 ,," 9
5 6 8 0 4 9
10 44x13= 1) g3x57= 12) 34x75=
4 4 8 3 3 4
0 1 2 7
0 1 4, 5 2 7
0 4 4 4 0 / 5 5 1.7 8
1 1 <15 2 1 2
3 7 p 5
5 2 2 7 ,,’ 6 1 5 5 ’," 0
7 2 3,71 5 0
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